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B2 B% b {2 EA 42| 41 83| 12.0/ 71.0
M BFIE NE 36/ 38 74/ 3.0 71.0
3G MR EE 39| 37 16/ 4.0 72.0
A5 IR R 44| 40 84/ 11.0 /3.0
 bfu KEH #FEH 41| 38 79| 5.0 74.0
ofL EJt #o 42| 42 84/ 10.0 74.0
10 Bk 1ER 45| 40 85 10.0! 75.0
L T H B 47| 41 88 12.0 76.0
OGL /MR IBE 45| 40 8 9.0 76.0
106 |=iH FiL 46| 41 87 11.0/ 76.0
11460 ABF B 46| 41 87 10.0 77.0
1261 |22 &1 43| 39 82 5.0 71.0
1362 HHE BR 40 46 86/ 9.0 77.0
14461 |EEXR EHE 40, 48 88 11.0 77.0
15/ £ 1E% 42| 39 811 3.0 78.0




A BITX

ouT

IN

GROSS

HDCP

NET

B A 49| 41 90! 22.0] 68.0
EERH KW X 48/ 43 | 91] 20.0 71.0
i 3{4 EF| 48, 47 95 24.00 71.0
A Ll FIE 46| 41 87 15.0/ 72.0
it [BAK  ARR 48| 41 89 15.0 74.0
i :'ﬁ' AT 52/ 49 101 26.0 75.0
1431 EEH 44| 44 88 13.0 75.0
81iL *a;' N 44| 44 88/ 13.0 75.0
9L B0 EE 55 56, |111] 36.0 75.0
10452 @il =l 49| 45 94 18.0 76.0
1141 E {#H[E 45| 45 90 14.0 76.0
1262 (%25 Rl 45| 48 93/ 17.0 76.0
13431 /J\JH: % A5 54/ 58/ [112] 36.0 76.0
14431 i 521 50, 1102 25.00 /7.0
15431 RE’% =t 51156/ 107 30.0 77.0
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B B mEE s 4743 90 20.0/ 70.0
R %A FIx 4847 | 95 22.0) 13.0
C 3r [BHE OR¥E 4036 76, 2.0, 74.0
COAME A mE 34 84100 14. 0
b HEP WF 13844 820 5.0 7/.0
6L 5P S 42| 41 83, 5.0 78.0
T RFE £ 4943 92 11.0 8
| 8L B &Y 44| 46 90/ 9.0/ 81.
| 9L (B bEH 42| 45 87 6.0 8
10 = =R 54/ 46 100/ 15.0 85.0
i 2 F=HR (sa | 900 4.0/ 86.0
124 dEld CHhE 4457 101/ 15.0 86.0
- 136 AT - B 44! 46 900, 2.0/ 88.0
145 BH F 51530 (1041 14.0] 90.0




